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CP-2134
M.A. (Third Semester) Examination,
Nov.-Dec, 2018

SOCIOLOGY
Paper : Fourth (A)
(Industrial Sociology)

Time Allowed : Three hours
Maximum Marks : 50

Are: Tl Al oSt & g fAGAMTER FY| 3ol T [qeaTsTer Gust & @1y
fer o %@ &

Note : Attempt questions of all two sections as directed. Distribution of marks is given
with sections.

»us-31 / Section-A
(el 3cadIT 92+) (Short Answer Type Questions)

e : T 91T I & ek G| Yodeh Shls & Teh T2 el feAary
gl Ik T2 4 37hI T gl FThdd s HAT 100 US|

Note : Attempt all the five questions. One question from each unit is compulsory.

Each question carries 4 marks. Maximum word limit 100: words.

SohIs-1 / Unit-1
1. HieAfaer FATSRAET &1 qiemsT &ifSv|

Define Industrial Sociology.

314dar / Or
HH AT FT 57
What is labour unrest?
SehIs-11 / Unit-11
2. HH HISA H T FIT THST &7
What do you mean by labour organisation?

37UaT/ Or
AT AT §?

What is Bureaucracy?

http://www.a2zsubjects.com/



http://www.a2zsubjects.com/

Sh1s-111 / Unit-111
3. FI JTURUT TS HIfAT]

Clarify work concept.

3441/ Or
Jaradr T JITYURUT I 3&8I0T dfgd TISC HITAT|

Explain the concept of migration with example.
SHIS-1V / Unit-IV
4. 5H HHEAT F4AT 7

What is labour problem?
31dar/ Or

ST A & AT A 8 & g Qv
Give the suggestions for controlling child labour.
gehIs-V / Unit-V
5. Yofiare a1 g7
What is Capitalism.
3144t /Or

ferd I gUROT Tase HIifFT|

Explain concept of power.

YUs-q /Section-B
@ 3cadig 92+) (Long Answer Type Questions)

e : T 91T I & ek G| Yodeh Shls & Teh T2 el Jfedary
gl Icdeh UWT 6 37hi &l gl TR Asg AT 800 AsE |

Note : Attempt all the five questions. One question from each unit is compulsory.
Each question carries 6 marks. Maximum word limit 800 words.

Seh1s-1 / Unit-1

6. 3N FATSTTET @ gRNNT RIST Tar gqh ypfad &
quTe HIfST|

Define Industrial Sociology and describe its nature and scope.
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Idr/ Or

HH fqHTatsT a1 82 A AT # HA-TAATSA & HROT U9 FATGT Hr
faaaer HIfST|

What is division of labour? Discuss causes and consequences of division of labour is
Industrial Society.

Sh1s-11 / Unit-11
7. 9Rd H AfAS® Hlecloldl I HTelldsdlcAs® dddeT HfST|
Discuss critically labour movements in India.

Agdr/ Or
eaif@ie Alemsr I favar & FAsSU|

Explain industrial bureaucracy in detail.

SehIs-111 / Unit-111

8. R AfAent T Jardl ygica dr fadwe= HfAT| gHS Fa1 HROT AR
o gl
Discuss migratory character of Indian labour. What are its causes and consequences?

341/ Or

HH FFEEY @ T R 8?2 HRAG 3N H 3 47 FFa-Y Tl 8
9= geara Afaiv|

What is meant by labour relation? Give your suggestions of getting good labour
relations in Indian Industries.

9. STl &TH ol IRIVT RTST| STIHT F HEIELIRT FHET bl goTed
HITIT vd geieh fFaroT & faw gema afav|

Define child labour. Describe unhealthy impacts of child labour and suggest measures
to remove them.

3dr / Or
HicIRNUT @ 3ceel Taffeed AT AT fad<eT HifaT|

Discuss various problems caused by Industrialization.

SehIsS-V / Unit-V
10. R 7 3fefaes il HT ATATTS FET & YT ST goie S|

Describe provisions of social security for Industrial labour in India.
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3Ydr/ Or
qaiare i SATEAT S8 IU-ANT & Hest H T

Explain capitalism in respect of its merits and demerits.
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